Sefetzun )

CIVE 6361 Groundwater Hydrology

Ewsecise #1. Compute the mean annual effective precipitation over the watershed depicied in the figure
Gslow. The precipitation values shown are in inches. Use the following method (See the example
imcieded with this exercise). ,
1) Imsespolate between all gages selected rainfall incremcents (¢.g. 40.00 inches. 35.00 inches. eic.).
2 Jeim idestical depths from cach imterpolation 10 € orw insheyess (lines of cqual sainfall).
39 idensify the basin arcs between each isshevet. and assign 0 this ares the sverage minfall of the two
Goumfing issheyess. The panet seinfiell vebame is Gic product of this sverage minfll and the panci

-.
& Compue ¢ wnl velume 35 G sam of G pancl velumes. The total cfficchive 2nmmsd depth is the
oo of toted volusee and eotef Sani snee.
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Exercise 2. Disectly endernesth the watershed is 3 groundwater reservoir (aquifer). that has a storage
coefficient of 39%, G is half of the aquifer’s volume is occupied by solid space and the remainder is
available to stere waner. The fraction of precipitation that recharges to the aquifer is 2% Estimate the time
it will talee for e sverage water level in the aquifer to increase 6-inches in the absence of any outflows.




CIVE 6361 Grounds ascr Hndwology

Exercise #1. Computc the mcan anmmal cficctine precipitation over the watershed degicied in the figure
Sclow. The precipitation values shown ase i inches. Use the folloning methed (Sec the example
inciuded with this exercise).

1) Interpolate between all gages sclected rainfall incremests (¢.g 40.00 inches. 35.00 inches. etc.).
2) Join identical depths from cach interpolation 10 €ermisoheyets (lines of equal raimfall).

@ 3) Identify the basin area between each isoheyet. and assign 10 this area the average rainfall of the two
bounding isoheyets. The panel rainfall volume is the product of this average rainfall and the panel
area.

wedp4) Compute the wtal volume a6 the swm of the pamel volumes. The total effective annual depth is the
ratio of total volume and total besin arca.
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Exercise /2. Directly undemeath the watershed is a groundwater reservoir (aquifer), that has a storage
coefficient of 50%, that is half of the aquifer’s volume is occupied by solid space and the remainder is
available 10 store water. The fraction of precipitation that recharges to the aquifer is 2%. Estimate the time
it will take for the average water level in the aquifer to increase 6-inches im the absence of any outflows.
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